AP Calculus Practice Exam

AB Version — Section 1 — Part A

Calculators are NOT permitted on this portion of the exam. 28 questions = 55 minutes
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2. Find the slope of the tangent line to the graph of f at x = 4, given that f(x) = X’ - 6Vx
a4 b g e 2 v (ax”?
w P % > C. 2 f»\ & > e. 2 ;‘:{‘ “ //
o L}J / . {f"}i‘ »
1, f‘; . . ;‘fﬂ‘ 3x +x . "( ("T‘:‘ : E N - & . Wi
(B Determine hmx_wf0 pvr v X / p
3. 9 — ‘\ P
a. 1 b. p B o d.o e. oo
4. f(x) =x>. Aregion is bounded between the graphs of y = -1 and y = f(x) for x between -1 and O,
and between the graphs of y = 1 and y = f(x) for x between 0 and 1. Give an integral that
corresponds to the area of this region.
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6.. Compute the derivative of -3secx + 5cscx .
b. -3sec’x —5¢sc’X  C. -3secxtanx + 5cscxcotx

a. -3tan’x - 5cot’x
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ﬁ\\\ ﬁbﬁ\ﬁbetermine the concavity of the graph of f(x) = 4sinx + 4cos’x atx=n
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11. Compute [ 4x2Vx3 + 3 dx.
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e "12. Give the value of x where the function f(x) = X+ %sz +12x — 2 has a local minimum.
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. The slope of the tangent line to the graph of 3%+ cx—3e' = -3 at x=.0.s 4. Give the value of c.
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14. Compute [ 2% — 4e?™* dx
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15. What is the average value of the function g(x) = (2x + 4)? on the interval from x = -4 to x = -1?
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.iFind the instantaneous rate of change of f(t) = (3t® - 4t + 4); ;‘1;‘? +3t+4 att=0.
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-3 = e
a. = b.-8 c.-6 /7 ds ) e
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a. —=sinx7°%In7 b. sinx7°**In7 c.=sinx7°  d. - e.
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A solid is generated by rotating the region enclosed by the graph of y =+/x , the linesx =1, x = 2,
andy =1, about the x-axis. Which of the following integrals gives the volume of the solid?

a. flz m(x — 1)? dx b. f12 m(x—1)dx c. flz r(Vx-1)>dx d. f12 m(2 — x)? dx

e. flz (2 — Vx)* dx
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Giveny >0and % =32 fthe point (1, v10) is on the graph relating x and y, then what is y
when x = 07?
a. 6 b.3 c.1 d. 10 e.2
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24. A particle’s acceleration for t > 0 is given by a(t) = 12t + 4. The particle’s initial position is 2 and
its velocity at t = 1is 5. What is the position of the particle at t = 2?
a. 20 b. 10 c.4 d.16 e. 12

1. 1
25. Determine fozn sin 3x dx + fogn cos 3x dx

a. 0 b._?z c.1 d.-1 e.
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26: Determine the derivative of f(x) = co?(3x +2) atx=
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" a. -9c0s3(T + 2)sin(r + 2) D b -9cos?(m + 2) c. -9cos’(m + 2)sin(rm + 2)
d. 27cos’(m + 27)-sin(n +2) e. 27cos’(m + 2)
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27. Compute the derivative of f(x) = fox In (t2 + 1) dt
a. Inp2+1) b. xfil . 2x In(x* + 1) d. 2x In{x* +1) e. In(x* + 1)
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